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(N)
EY) H26 5 FE 38R H27 % FE 5B H28 5 FE 5B H29% FZ 5 BR H304 EatBR
RAFTEAR 104 123 98 117 107
ZERE 839 863 844 741 710
bt 249 304 332 269 231
& (%) 29.7% 35.2% 39.3% 36.3% 32.5%
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(AN)
H26&E H276F H28%&E H29%E H3 0%
HRE 76 65 58 74 48
ARWRDMEE 4 3 2 4 7
M1 (%) 5.3% 4.6% 3.4% 5.4% 14.6%
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H264E H274% H28%&E H29%4%E H30&EE
HRE 76 65 58 74 48
KBS 62 54 43 56 37
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H25&% H265E H27%E H29%E H30&EE
HRE 67 76 65 74 48
HNREGE 22 30 20 37 24
132 (%) 32.8% 39.5% 30.8% 50.0% 50.0%
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(1) BEEMBE (KFRRALUE) IKHHITERBEOES

(AN)
X & H27 & fE H28 4 H294 & H304ERE H314&EE
BEEBEH
(EFEEML L) 270 268 266 267 269
S5H&tE 13 16 18 19 17
ZHEIE (%) 4.8% 6.0% 6.8% 7.1% 6.3%
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AR AHE &5t
Bt 211 92.5% Bt 278 91.1% Bt 489 91.7%
H294E 7 17 7.5% el 27 8.9% E-d i 44 8.3%
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Bt 216 94.3% Bt 279 89.7% Bt 495 91.7%
H304EE el 13 5.7% it 32 10.3% it 45 8.3%
At 229 — At 311 — =t 540 —
Bt 214 94.7% Bt 275 88.7% Bt 489 91.2%
H31 &R i 12 5.3% o 35 11.3% ZiE 47 8.8%
= 226 — 8% 310 — =3 536 -




